
Notes 10.6                     Dependent Events and Conditional Probability

golf

Example 1: Find the probability that a randomly selected student:

a) runs track given that the student is in shop.  P(T|S)

golf

b) is in auto given that the student golfs. P(A|G)



probability of:

a) drawing a red, then a blue with replacement

b) drawing a red, then a blue without replacement

c) drawing 2 purples without replacement

d) drawing a blue, then a white with replacement

e) drawing a blue, then purple without replacement


